H & 0l & AHS B Ml A

ST ARG A
JIZ=AIE 22t
MelZAld B 232 EER=E)
L EE . G (3) - NRAY - HAS ol ke G o HlmS2
P E AP A 19,820,5% 18,436,130 1,384,465
= 7,137,000
= 904,400
= 11,779,19%
BEI|IEAL 2I2e 3,948,392 4,249,233 A300,841
St &BAE HE g2t 1,303,679 866,974 436,705
4ot 29 1,277,431 836,902 440,529
101 el t| 10,476 10,256 220
M I1RINZ2Z2XsEs 10,476 10,256 220
Odt==HMeld 33l 21FY 8,693
=Jl=2= 79,2002 1100 7,920
—&HIEE S O (4tl 28)
7,920,000 +9.75% 773
OdtHeld =3 2t
148,510 x4 H+32 *13] 1,783
201 L2 | 259,089 368,673 A109,584
01 At 22|l 98,570 115,078 A 16,508
OBt4HeIE SYUS B4 L T 7Y
100,000& = 12042 1,200
Oct==Held 2els ¥ Mels |Al2eltl
300,000& *3= 900
OZII=AIE E2R2L AEET 2
60,0003 *10Z+38 1,800
OAlZ 2|8 SotAIEFE E20HAHI
8,000 x9H x 110! 7,920
O ZII=AIE )| E==H|
300,000 *3CH 900
Odt4xzIE SIMBE 72
50,000& 1201 = 600
Ostexzld gxg 878 7o
200,000& 3% 600
Odt==Hel& Zelr)| EYH 2
29,0002 *2CH*43] 2,360
OEIIZ=AIE ARES P2t
170,000 *20H 2 340
OSEIIZAIE SAEX 2|
23,0003 *502 A 1,150
OSEIIZAIE SAHE &= 2 235
300,000& 10X 3,000
ONgssd 28 |SLS(6HED, S&II)
-l 100,000 10 23| 2,000
Odt==Hel& Y| 22,980
— LR G 60,0003 * 1218 1,080
—=A G 60,0002 1 *3652 21,900
Ogd MEgstsd A8 oglol 227183
T 4,0002 *5000 2,000




FA: AR A
3 JIE=AE 22
o MoEAE HE 2Z2a (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OtBIIZANE H=)| dE =22
60,0003 * 12043 720
Ogazoill 42BN 248
300,000 *10H A 300
O==ZMS SAEH 228 2¢
19,000,000 * 104 2 19,000
OBt4HRIE YRS 2BAMN 242
500,000& 52 2,500
Odt==Xecld 0TV =Xl 2teld]
100,000 *107H A 1,000
Oot=HMeld APRA ZAIZLIE #=cldl
100,000 «7H 700
Ott==Xel& dI|d g
550,000 * 1200 & 6,600
Odt=xcld AISY etd2tel ZI18d =
== 2,000,000& *23] 4,000
OBtaH2IE SEMARE AN S
ul 4,200,000 * 14 4,200
OBt=HEIS AWM T2AA 242
4,000,000 *14] 4,000
O=BoAR=T 28 242
1,200,000 *43] 4,800
Odt==HMeld SO0IAE FIIZA =+2(3
Il 2ol L=3) 300,000 *4H 1,200
Odt=xcld HIIEH IIBA ===
1,200,0002 %14 1,200
ORdiztat2d HISAE FIIZA =8
600,0002 %12 600
2 35244l 160,519 253,5% A83,076
Odt=HelE HIIQS(AHE)
7,500,000& * 1204 & 90,000
Odt=xeld datR=s
50,0002 *4CH* 1200 2 2,400
ONSIER(SHLXE 9.6K)
350,000 * 1204 & 4,200
Odt=xcld ot AIZR
20,0002 * 1204 & 240
OSIaYs 287
24,0003 *3H A+ 1204 = 864
OstBIIZAE U= 2l € =F
100,000 » 1CH*32] 300
OBJI=AIE A&l |Xl2el]
300,000 39K 2 900
O=ZAAZAIZHI(M) S22 S
56,000,000 *1IH 2 56,000
Odt=Xeld REH Hud A
900,000 304 A 2,700
Odt=xMcld JIAF=EE 2L A 480
—Jloeg 90,0002 *1S+3 270




A Aote=EAIE A
M SHIIEANE 2F 2l
CHol: BlARZIRAIE HE 292 (Shol: % 2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—JelA 70,0003 «135+3& 210
O dot=Held 8TE 2 2el 2,435
—HERF 1,730&*102| B x4 935
— XA 1,500,000 14 1,500
202 Ot 8,000 2,560 5,440
01 =WHO4LI 8,000 2,560 5,440
OAlZ2te|gl SotAlY =& 0ddl
8,000,000& 8,000
206 =4l 4,900 7,900 A3,000
01 M=l 4,900 7,900 A3,000
OBZIIZAE FZ42 oF L U7 72
200,000&*20H A %13] 400
Odt=Held sttt 22 2 (Hel=2E 2 3
E) 1,000&*3,000=2*13] 3,000
OAIIZ=AIE AMH ¥ Otelet 2
500,000 *37H 2 1,500
207 HA2OHEH| 71,466 63,213 8,253
03 Al& 72| 71,466 63,213 8,253
OBt4H2IE W ASZE BT ¢
7,000,000 »23| 14,000
OBtex2ld 248 STH 24E 72
3,000 #4002 E4* 120 & 14,400
OI =AY B2H 7
7,7003*0kg* 1201 = 8,316
OdteHeld SN AS U (PALSEH)
2303 *3002| B x365 25,185
Odt==HelE AsHH 28 7
150,000& *73 1,050
OBt4H2IZ A8l 7Y
150,000& 108 1,500
Odt=Hel& A& =+ 2L
50,0003 105 500
OSFFHM=ED ouEH 72
800,000 *2&*12] 1,600
Ograa =ZTA ZH| 2L 1,715
-8 2 90,0003 »58f A 450
=== 2L 253,000 *54 1,265
OZ0l 9 224 MEIE
200,000 =102 A 2,000
O=Z TCsdII| 228 7
1,200,000 14! 1,200
308 AXISHMSO0IA 9,000 12,000 A3,000
14 JIEtRE 3 9,000 12,000 A3,000
OSZII=AL &2 SE)|IEXT WEZ
3,000,000 *32| 9,000
401 A& BIZL20HbI 890,500 297,300 593,200




ST AR A
IIZ=AE 282
XelZ3Ald HY 2g2c e &)
2 - IE
- BB S9I(3H) - HIRAY - BaS ol &t e HIDS
01 AlZHI 890,500 297,300 593,200
Odt==cdAl Xl ==
140,000 *0E* 1204 151,200
OFARLS JIHEH S AE= =cl
30,000,000 *14! 30,000
OIMHeIE HAXMels MFE Z SOIAl
2 =4 5,000,000& 12} 5,000
OWUERSE s oY =THE =
cl 2,000,000 *2CH 4,000
OdHls JIHZH & AIEE =2l
37,000,000 * 14! 37,000
OBXMIAE S22l & =2l
2,500,000& *14] 2,500
Odt==XeI& PLC MOiE #=2]
3,000,000 * 174 2~ 3,000
Odt=Xxicl&d PLC MIOIEH WAl
90,000, 000 *37H 270,000
Odt==xeld PSEAX WAl
3,000,000 * 104 2 3,000
Obt4H2IE L HYR FH HEXY
1,700,000 #4042 6,800
OsYNd FFRHEZO™ FA2 bl
500,000 *4CH 2,000
O¢A+x dSS388E & =518 +=
cl 1,500,000 «2CH 3,000
O=4ol+xcld dEi+==2 22y
6,000,000 22 12,000
ORYs+HY RYL2 42
1,500,000 %27 3,000
O=4ol+xcld FUED IHE &X
4,000,000 27| 8,000
O=4ot=xcld HARII| WX
350,000,000 x 14 360,000
405 AtatsE = 24,000 75,000 /51,000
01 TR ESFSHI 24,000 75,000 /51,000
O=dotrxicld s 78 & &£X|
8,000,000 =3CH 24,000
dote= A2 E 22 26,248 30,072 A3,824
101 @124H| 3,802 3,706 %
M JIZtHZZ2 RS2 3,802 3,706 %
OFA 22T 25Y
79,2002 x4« 123 3,802
201 Zet=3hl 21,446 25,366 A3,920
01 AtR2t2|HI 13,790 17,710 23,920
Ost&d 1S 7 100,000 122 1,200
O&=J| & HIOl dE ===
162,500 122 1,830




AR A
IIZ=AE 282
MelZAld B 232 CHe &)
L FE - SRAE) - MRAY - BES of v G o HIDE2
Oogd g4l g3 #¢ 100,000& « 12& 1,200
OLEZ(HSEF, ANl S) 7Y
100,000& * 122 1,200
OAld2e| Zely EY #¢
295,000 x2)H %43 2,360
Oodte| sl & A=
100,000 *5LH =22 1,000
OUTI=EAE A AR X2
5,000,000& 5,000
02 S3=gHl 7,6% 7,65 0
Odot=EAE A dotrER2s
20,0002 12 240
OABIETAIRIA ®IIR3
500,000& 122 6,000
ORdYgs =tz 13,0003 * 122 156
Oelgdl 5 sS4l ME=
105,000 «12& 1,260
203 g4l 1,000 1,000
03 A=A R =] 1,000 1,000
Odote=l 2E AIHF 1,000,000& 1,000
Sl=S2Xcld 29 2el 1,648,379 2,164,756 A516,377
ol-SEXE Y 29 1,349,944 1,775,025 N425,081
402 212t X201 & 1,349,944 1,775,025 N425,081
03 2IZ+RAETAIS I 1,349,944 1,775,025 A425,081
O=1t - A=0t+Xeld & AL 282
clbl 1,000,000,000& * 191 2 1,000,000
Ogdot=xeld 24 22l
349,944,000 * 11 2 349,944
ot=ZS2XelE KAl 298,435 389,731 N91,296
201 er23 | 52,525 38,231 14,294
01 At2teltl 24,245 31,871 NT,626
O=1, A=0t+Xeld +ZTMAHE=HA
e Sl 4,200,000 *20H 2= 8,400
OH=otrXcld +EMITEN =5
4,000,000 *2JH 2= 8,000
OYeESot=xicld v &X
33,0002 10H 330
O=1, A=0oteXeld dJR+E A =5
=4 75,0002 x102]*20H A 1,500
Oyt SSot-xcld I Eot ==
= 6,015,000~ 104 2 6.015
02 S52g4l 28,280 6,360 21,920
O=ZMSEH| &) & SULS(SH, A=)
400,000 x 1290 2 4,800
Ogdsl=S2xicld Mojet™ 2z ety
180,000&* 12043 2,160




SN ABIEE AR
M SFIIZAE 22
el SleSEXcE 28 2c EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OgHSEot=xcld CCTV A 2el|
11,0003 x10JH A+ 1290 2 1,320
Ogeiote=xeld AFI|=as 22|
20,000,000& * 14! 20,000
401 AIEHIZ SR OHYI 245,910 201,500 44,410
01 Al&HI 245,910 201,500 44,410
O=i 4= =ZMWSEH| |2l 84
112,000,000 * 14| 112,000
O=n 4= =AWl |A2el A2F 1
Al 16,000,000 *29H 2= 32,000
Ogdots=xeld sXlze A2F WH(E
SEEX) 15,000,000 * 14! 15,000
Oot=xcld AldE 2 HIE 7Y
5,000,000 * 14 5,000
Ot A=0ot=xcld St ZI|22
SIINseEE 7Y 14,000,0002 % 14] 14,000
O=ih, 4=0t+xcld SUXAE 01
8% wA 27,890,000 * 14! 27,890
Ogdot=xeld 2EE D 2HE 7
11,000,000 * 14| 11,000
OYTFAHRIZ HF IS SHBIE
B K 24,520,000 x 14 24,520
Ogdot=xeld UAS(W)ASHI 25
b 4,500,000 * 14 4,500
FEXCITAE HE 22 137,555 205,225 A\67,670
lHelY 2 105,855 173,525 A\67,670
201 el 51,855 120,105 268,250
01 At22t2lt] 6,99% 10,455 A\3,460
OFMFRIE B4 Y HACT 7
50,0002 1 H A+ 122 600
OSIMHEIE AAMBE 72
50,0002 123 600
OfdHMeld Zeld &4 2¢
295,000 %12 2%
ORIMHRIY B4I| dE 248
50,0002 123 600
OBIE| BIUAL 248
1,300,002 141 1,300
ORIMHRIY HIIVH ez
300,000 * 122 3,600
02 S5=2g4l 44,860 109,650 A64,790
Ol A3 (AEE)
40,000,000 *14] 40,000
OFIdxcld ed= 2 4,500
—AtEmFl 2,500,000& 2,500
— XAl 2,000,000 «1CH 2,000
O - o= AIB= 30,000& ~12& 360




FA: Aot AIE A
B BA)|FAL 2B
Rl RIUNCIZAIE HE 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 1,000 1,920 A920
01 2LHoIH 1,000 1,920 2920
OSIMMEIE 29 ALET oYl
1,000,000 1,000
207 ARl 11,500 1,500 10,000
03 Al 2HI 11,500 1,500 10,000
OFdXeld NHSHOo 235 7
150,000& %105 1,500
OEHAE 4Z57E 10,000,000 * 14| 10,000
307 elztol & 1,500 1,500
05 21t S 1,500 1,500
OfIdMelY 2= nEs
15,000, 0002 *10% 1,500
401 Al HIZ S OHbI 40,000 48,500 /8,500
01 AlZ2H| 40,000 48,500 28,500
Ogds S8 XMalAld el
5,000,000& 15 5,000
OE=Z web| =2l 3,500,008 x15 3,500
Odstsx L8 HE E&H =c
5,000,000 15 5,000
OtIRH 2734 #=cl 3,000,000&*25 6,000
Oxlels =5 82 #c|
1,400,000& 55 7,000
OSTSHl PLC X018t == 2,000,000 *14! 2,000
O+=32H 2+ BZ =g
1,500,0002 23] 3,000
O&S HOIE ¥E =
1,500,0002 %12 1,500
OS2kl Qg AZZE BHE ¢
3,500,000 23 7,000
HMOHEE At=2c 31,700 31,700
201 fer23y| 26,240 26,240
01 AtR2t2lHI 26,240 26,240
OHMUEd 48535 & HgEx7 FY
60,0002 «12& 720
OHMUEE &+ 0ISH =8
135,000 94 2 *4 3] 4,800
OHMHEE Kot 2HE AAHEA, 20|
13l) 185,000 x99I A +4 2] 6,660
OHMIHEE E 2EE BAHYH, H13])
14,000,000 * 14! 14,000
401 AIEHIZ SR HYI 5,460 5,460
01 Al&HI 5,460 5,460
OHMIHEE dA A U2 B
1,500,000 17K 2 1,500




SA AR AIA
M BFI|ZANE 2Z2el
Ol MTZITAIE HE 2R (12l M2
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
SEET W ENFER
200,000 97K A 1,800
OHMOUMEE =2 =&
80,0003 *9JH 2 +33 2,160
OtsSot=xeld 29 858,779 1,012,278 A153,49
OtSot=Held 299 858,779 1,012,278 A153,49
201 B2 AL| 303,567 243,570 59,997
01 ArR22eltl 92,392 37,450 54,942
OO0S5tHelAld R s XI&E A
12,000,000 & * 14! 12,000
OO0tS6texeld 2eliid ot =2
80,392,000 & 14! 80,32
02 3244l 211,175 206,120 5,085
OOtSotexelAlE &I1e3
12,500,000 * 122 150,000
ObtEste=HMel & JIsrle(ss, dAg, UF
) 15,765,000 *37H 2 47,295
OltSotrHeld dEXNE 7FHI
1,160 %15 £ x200 3,480
OOtSotrx el SEAMEZ
700,000& =123 8,400
O0tsSot==Hel& & sXd]
2,000,000 *1CH 2,000
202 Ot 1,000 4,800 A3,800
01 =WO4 bl 1,000 4,800 A3,800
OnSst+H2E 2% L2 ol
1,000,000& 1,000
207 AR 9,870 9,870
03 Al& 2| 9,870 9,870
O3Z2H 7 105,000 *47JH 2 +23 9,870
307 QI2HO| A 341,404 326,904 14,500
05 QIZtRES 341,404 326,904 14,500
OO0t=6texeld 2eliid
341,404,000 341,404
401 AIEHIZ 28I 202,938 427,134 A224,196
01 AlEHI 201,530 425,290 A223,760
Osd7 MHelAME 38 =2l
500,000& *35*27H A 3,000
OdEHelAld HHEE S =l
450,000 x25* 1504 2~ 13,500
OXE A=D] 2 28 =2l
600,000& *x3Z* 1501 & 27,000
O 01EEE 2|
400,000 x2B*47H 2 37,600
OMgEX et £=2|
250,000 x2B+27 1 2= 13,500




FA: Aot AIE A
M SFIIZAE 22
s 0tSole=xeld 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OWASIIY =81 & =2AH =2l
500,000 * 157K 2 7,500
OWa=J] wHl 8,000,000 24 A 16,000
OOtSsteHeld H=&gHI(Held =)
130,000& #4790 2+32] 18,330
OEHBEE SN2+
1,500,000 * 1290 2~ 18,000
Ok= poztd ==c| 4,000,000 *57H 2 20,000
OdF=EA =cl 3,500,000 *6H 2 21,000
OJlsdlet 210 =XIAE HMel 6,100
—&20] ZH RH(PH)
100,000 *14! 100
—232 A0IE D28 WH(ZH)
1,500,0002 %14 1,500
—O{ESEE X YJH2 AZ(LL)
1,500,000 *14] 1,500
—=FEHID Y DB DH(BY)
3,000,000 14| 3,000
03 AIZ2THYI 1,408 1,844 A436
OObtsot=XelAld RRIE4
195,430,0002 %0.72% 1,408
He=so HEN S8 503,434 620,689 A117,255
= 210,000
= 293,434
OiSa+E 2+ & KXl 503,434 620,689 A117,255
= 210,000
[Ea 293,434
DiEak R 143,150 244,750 A101,600
401 Al HIZ S 0HbI 143,150 244,750 /101,600
01 AlZ2H| 143,150 244,750 101,600
Ol =EAIE Bie=X Fa
250,000 5304 A 13,250
OARE =EAIE |A2A2 & 2557
800,000 *537H 2~ 42,400
Ox72 =ZAIE Kot ZAEA ()
5,000,000 *27H 2= 10,000
OanZ =EAE HX E1d]
7,000,000 *50H 2= 35,000
OA1e =ZAI4 HS XMl
3,500,000 *57H 2~ 17,500
OARE =EAE 22| 89
2,500,000 *42] 10,000
Ox72 =ZAIE =X 6 wH(2
&, Hia, §5) 5,000,000 *37H 2= 15,000
FHZAAAl € RX2te 60,284 75,939 15,655
201 er23 | 55,844 70,339 14,495




FA: Aot AE A
Hu: ologo| BN 23
©e: Osast e 2 |2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 55,844 70,339 14,495
OALARSEAE =2IA =8 35,610
—F4 2IRAH1BES)
67,1003 #5371 2-+32 10,669
— 2 o212 AN50E )
364,2002 x53 ) A=+ 12] 19,303
—ct= SA 50,0003 #5374 2-*22] 5,300
—214 ERE4 UIIAAHEES)
30,7003 %110 A+ 13] 338
O3SAIE(2=H) 1,786
—HII2AHTES)
30,2003 *4JH 2=%52] 604
— 121468 2)
295,500 *4 0 A+ 18] 1,182
Ollg=XY SEXote =EHA =8
270,000 604 A 16,200
OanR =EAE +=E2IMN =2(RetE
ZAH) 2,248
—fcts ZA 10,6003 #5370 A +4 3] 2,248
206 M=l 4,440 5,600 21,160
01 M=4l 4,440 5,600 A1,160
Oltst+E ASAFE 7 4,440
—XEAA ZE 200,000 x18f A 200
—XEAMUESE
20,0003 #537H 2-%42] 4,240
ARLCAENS A (HEALY) 300,000 300,000 0
= 210,000
Ea 90,000
401 AIZHIX S0HH 300,000 300,000 0
=S 210,000
s 90,000
01 A28l 300,000 299,000 1,000
OARE =ZAIE HEAG (2= 7427)
300,000,000& *14] 300,000
< 210,000
= 90,000
SS9 g2 12,154,938 9,288,660 2,866,278
= 7,137,000
= 694,400
o 4,323,538
3ot HF2t 1,655,880 1,717,724 A\61,844
3ot |2 1,655,880 1,717,724 A\61,844
201 er2 3| 65,180 46,740 18,440
01 AtR2t2|HI 5,940 5,940 0




A Aote=EAIE A
B Zoiolo] AHADH
el SSotek HF 2 (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Oot=ZAE &M P (EEEY, SIH3E
A1) 400,000 14! 400
O&3ot=E R EE22 ME &2 =23
- 700,000 *23| 1,400
OBI+=EE BOHAIER S22 Y|
8,0002 x3& %110 2,640
Odt=ZAId |X2e M+
1,500,000 14! 1,500
02 33244l 59,240 40,800 18,440
Odt=E X2 MIILS(BHEIEH)
96,000 *450 12 51,840
Odt=E RA 2| SRS (SHEIE)
10,0002 #4004 2% 12& 4,800
ONBH=E 83 (Bt45)
2,600,000 13| 2,600
202 04d| 9,300 4,800 4,500
01 =LHO4 L] 9,300 4,800 4,500
Odt=E8 SotAIY F=& (|
9,300,000& 9,300
401 AIEHIZL 200 1,581,400 1,666,184 N84, 784
01 Al&HI 1,581,400 1,666,184 N84, 784
Odt=& EEAY 3,000,000& *153] 45,000
Odt=2t2 KL=
80,000,000 * 14! 80,000
OSHEEZZE FXE=H|
2,000,000 *20JH 2~ 40,000
Odt=2t2 CCTV T ARH]
2,000,000& *300H A~ 60,000
Odt=HMel 7Y W E3tE HAMALY
200,000,000 14 200,000
Odt=xelE 22 SafAd
200,000,000& * 14! 200,000
Odt=Held &2 SAAS (20233 ALHl)
500,000,000& » 14! 500,000
OSHELY 32 USHESAAEH 2FAY
6,600,000 *4JH 2 26,400
O=1H ZI3dt==22 J|=dHEd
430,000,000& * 14! 430,000
St=E(Xlok=s) AIBE 20t 24,664 24,432 232
St=Z(XISk=s) AL EE 21 = 24,664 24,432 232
101 eI t| 8,265 7,129 1,136
M IItHZ2E2SEs 8,265 7,129 1,136
Odl4E ABZ 2UE+ U 2
157, 1002 x1Z +4IH L+ 12 7,541
OJIZ2HH 22X B8= 60,3002 122 724
201 L2 | 14,399 14,103 296
01 At 22|l 6,378 6,601 A223




FA: Aot AIE A
B Zopolo] AHAIH
o Sl (XIGke) AHER 21t (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFMFY +2l Y ZRlE EH 79
295,000 x22|+3H 1,770
Ott=S (Xot=) XM HE 2 8§ 7
1402 +1,671&+ 128 2,808
OAIRES 7| 150,000« 12& 1,800
2 S5=24g4l 8,021 7,502 519
Odt=Z(XIot==) XN LS RERS
4002 +1,67104*12& 8,021
401 Al HIX S0 2,000 2,000
01 AlZH| 2,000 2,000
OXlot=AlE HAZI| 7 & 4X
200,000 * 107K 2,000
ote=2t)1 ZHIAY 485,000 1,030,000 545,000
= 271,000
T 214,000
=42 L Fote22 200,000 200,000 0
= 100,000
= 100,000
401 Al HIZ 2018 200,000 200,000 0
= 100,000
Ea 100,000
01 AlZH| 200,000 170,000 30,000
OB4T LE5ABZ Y|
200,000,000 *14] 200,000
= 100,000
s 100,000
=5 S3oteHeFS olr-22 EXAE 285,000 830,000 A545,000
= 171,000
= 114,000
401 Al HIZL 201 285,000 830,000 A545,000
= 171,000
[Ea 114,000
01 Al&H| 285,000 830,000 545,000
O== S&otxc|74 o2& A
285,000,000 x 14 285,000
= 171,000
s 114,000
OlSot=xcld XML 9,980,630 6,508,000 3,472,630
= 6,866,000
=S 694,400
s 2,420,230
H372EX+ sHEDNS ot=SFHIAMY 5,749,600 2,200,000 3,549,600
= 5,010,000
= 539,600




FA: Aot AIE A
B Zo4olo] AHADH
Cel DISBlaR2IE EXIAY (SHol: )
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
[Ea 200,000
401 AlEHIZ S OHbI 5,749,600 2,200,000 3,549,600
= 5,010,000
= 539,600
= 200,000
01 AlZH| 5,449,600 2,000,000 3,449,600
OHZTHNR SOEDIS ST HEIAL
5,249,600,000& * 14 5,249,600
= 4,770,000
= 479,600
OHBILNT SOEOIS SrEHHIARI(
2023 AtHl) 200,000,000& 14 200,000
02 Zeltl 300,000 200,000 100,000
OHDPENT SOEDS S+-CHHIAY
SgAagae] 300,000,000 x 14 300,000
= 240,000
& 60,000
=3 S3ot=Held AEAY 1,439,000 2,143,000 AT704,000
= 732,000
= 141,400
[Ea 565,600
401 AlEHIZ S 0HbI 1,439,000 2,143,000 A704,000
= 732,000
= 141,400
= 565,600
01 A=l 1,139,000 1,943,000 804,000
O=2 TTE+MT AE A
1,139,000,000& » 14 1,139,000
= 579,000
= 111,400
= 448,600
02 Zaltl 300,000 200,000 100,000
O== S3otercld MEMY SEHLS
cl 300,000,000 *14] 300,000
= 153,000
= 30,000
[Ea 117,000
&) SEot==HMeld AEAY 2,625,030 1,665,000 960,030
= 1,024,000
a 1,601,030
401 AIEHIZ SR OHYI 2,625,030 1,665,000 960,030
= 1,024,000
T 1,601,030
01 A&l 2,385,030 1,515,000 870,030




FA: Aot AIE A
B Zo4olo] AHADH
Cel DISBlaR2IE EXIAY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&J| S&ot=xcld AEAH
1,330,000,000& » 14 1,330,000
= 834,000
Ea 496,000
O#)| S3ot=HMeld AEAIS (2023 At
Bl) 1,005,030,000& 1,065,030
02 2l 240,000 150,000 90,000
Oal BBIEHEIT MEAY SEALA
2 240,000,000& x14] 240,000
= 190,000
= 50,000
FclAl7 St=2t2 FHIAE 167,000 500,000 /333,000
= 100,000
= 13,400
= 53,600
401 AIEHIZ SO 167,000 500,000 A333,000
= 100,000
< 13,400
T 53,600
01 Al&H| 107,000 500,000 393,000
FclXl7 ot+22 HHIAI
107,000,000 *14] 107,000
= 64,000
[ 8,600
T 34,400
02 Zeltl 60,000 0 60,000
FclAl7t Ste2tE JHIAIY SEAHLAE
2t 60,000,000 x 14 60,000
= 36,000
& 4,800
= 19,200
JHelot=Xel 2ahd 8,764 8,504 260
JHelGt=X el Al 2t 8,764 8,504 260
201 eer23y| 8,764 7,784 980
01 AtR2t2|HI 3,000 2,000 1,000
OgEs AN 248 L Moy 2
20,000 »1007H 2 2,000
OZetx AU SAMA(HII, =)
2503 =4, 0000H 1,000
2 s5=4g4l 5,764 5,784 A0
OFztE S/W X2l
4,164,000 * 1= 4,164
Odatx FAMUEAM &E 2ERS
4002 *4,0000H 1,600
HY2AIHI(Lot=ZAYA) 92,800 113,120 A20,320




FA: Aot AIEA
M HAHPAZH|(MoI=ZAIE L)
&t JI=Z (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=3H| 35,680 45,800 210,120
Jl=23H] 35,680 45,800 210,120
201 er23| 24,500 24,500 0
01 At2teltl 24,500 24,500 0
ONBIET AL RASEH (LU+8H| S
) 6,800, 0002 6,800
S Jl=Ye 43 2= S234Y)
8,000 * 173 45! 6.120
Odot=EAIE A SAPD| U2
250,000 122 3,000
028 =ASX 7Y
23,0002 *202 A 12 5,520
Oaild dE =8
10,0002 585 128 90
OMBIEEURER TA 7
50,000& * 122 600
Oatt=Z Al A SF(0HA) MY
1,000 1,500 1,500
202 04| 5,100 15,100 10,000
01 2LHA b 5,100 15,100 10,000
Odlot=AIHA 24 HR2FE 0]
5,100,000 5,100
203 HR=H] 6,080 6,200 A120
02 FRItAA =AY 680 680 0
Ot e g2=4d|
40,0002 17 680
M FANEHYERFAY 5,400 5,520 A120
ORANEY g4l 5,400,000& 5,400
el 2E | 57,120 67,320 210,200
eI =3l 57,120 67,320 210,200
101 e124d| 57,120 67,320 10,200
01 2= 57,120 67,320 210,200
Odot=ZAIE A AR 2848
57,120,000 57,120
HPE s (Aot A A) 3,121,031 4,164,428 1,043,397
LIS HHKIE 3,121,031 4,164,428 1,043,397
LS HHRIE 3,121,031 4,164,428 1,043,397
701 JIEtSI HSHES 3,121,031 4,164,428 1,043,397
01 JIEteI B ES 3,121,031 4,164,428 1,043,397
Od+=E S83 &=
3,121,031,000& 3,121,031






